Solutions for In-Class Problems 2 for Wednesday, January 24
These problems are from Pre-Class Problems 2.
You can go to the solution for each problem by clicking on the problem letter or problem number.
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Simplify each expression and write the result in the form 
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2.
Simplify the power of i.
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3.
Perform the indicated operations.
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4.
Solve the following equations by factoring.
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5.
Solve the following equations using square roots.
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SOLUTIONS:
1a.
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Back to Problem 1.
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Answer:  
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Back to Problem 1.
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Answer:  
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Back to Problem 2.
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NOTE:  36 is the largest multiple of 4 that is less than 38 and 38 = 36 + 2.

NOTE:  
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Answer:  
[image: image25.wmf]1

-


2b.

[image: image26.wmf]43

i

 








Back to Problem 2.
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NOTE:  40 is the largest multiple of 4 that is less than 43 and 43 = 40 + 3.

NOTE:  
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Answer:  
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Back to Problem 3.
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Answer:  
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Back to Problem 3.
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Answer:  
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Back to Problem 3.

Use the special product formula: 
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Answer:  
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Back to Problem 3.
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Answer:  
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Back to Problem 3.
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Answer:  
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Back to Problem 4.
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Answer:  
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Back to Problem 4.
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NOTE:  
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 is a difference of squares.  Use the special factoring formula:  
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Back to Problem 5.
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NOTE:  
[image: image67.wmf]i

y

i

y

y

y

3

9

9

9

2

2

±

=

Þ

=

Þ

-

=

Þ

-

=



Answer:  
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Back to Problem 5.


[image: image71.wmf]Þ

=

-

Þ

=

-

Þ

=

-

-

20

)

3

(

80

)

3

(

4

63

17

)

3

(

4

2

2

2

w

w

w




[image: image72.wmf]5

2

3

5

2

3

±

=

Þ

±

=

-

w

w



NOTE:  
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[image: image75.wmf]5

2

3

±

=

w

   or   
[image: image76.wmf]{

}

5

2

3

±


_1534339870.unknown

_1534341934.unknown

_1534342344.unknown

_1534342898.unknown

_1534343376.unknown

_1534343705.unknown

_1534343783.unknown

_1546253856.unknown

_1534343803.unknown

_1534343746.unknown

_1534343469.unknown

_1534343580.unknown

_1534343273.unknown

_1534343311.unknown

_1534342995.unknown

_1534342418.unknown

_1534342489.unknown

_1534342386.unknown

_1534342154.unknown

_1534342200.unknown

_1534342259.unknown

_1534342183.unknown

_1534342057.unknown

_1534342104.unknown

_1534341952.unknown

_1534340400.unknown

_1534341273.unknown

_1534341439.unknown

_1534341704.unknown

_1534341282.unknown

_1534341369.unknown

_1534340791.unknown

_1534340946.unknown

_1534340532.unknown

_1534340221.unknown

_1534340297.unknown

_1534340385.unknown

_1534340235.unknown

_1534340037.unknown

_1534340096.unknown

_1534339883.unknown

_1534339326.unknown

_1534339623.unknown

_1534339737.unknown

_1534339821.unknown

_1534339708.unknown

_1534339489.unknown

_1534339567.unknown

_1534339398.unknown

_1533963356.unknown

_1534339197.unknown

_1534137001.unknown

_1534137189.unknown

_1534137278.unknown

_1534137105.unknown

_1533963602.unknown

_1533963237.unknown

_1533963300.unknown

_1533963051.unknown

_1533963116.unknown

_1533963214.unknown

_1533963095.unknown

_1533963043.unknown

_1533893128.unknown

